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Question: 1

Card reader is an example of
(A) Multi-tasking

(B) Multiprogramming

(C) Batch operating system
(D) None of these

Ans: C

Batch operating system

Question: 2

Context switching is part of
(A) Interrupt servicing

(B) Interrupt handling

(C) Polling

(D) Spooling

Ans: B

Interrupt handling

Question: 3



Which of the following is an example of a spooled device?
(A) A graphic display device

(B) A line printer used to print the output of a number of jobs
(C) A secondary storage device in a virtual memory system
(D) A terminal used to enter input data to a running program
Ans: B

A line printer used to print the output of a number of jobs

Question: 4

Operating system is resident in memory of which part?
(A) Middle

(B) Lower

(C) Upper

(D) All of these

Ans: C

Upper

Question: 5

Two basic types of operating systems are
(A) Batch and interactive

(B) Sequential and real time



(C) Batch and time share
(D) Sequential and direct
Ans: A

Batch and interactive



